2.6
Day 2 prawing Conclusions and Proofs

Warm-Up! Tnansitive and Substitution

1: Given: /1issu plw L3 \\;
(:%) 1

/2 =

Conclusion: _ <! 1S supp £3 Reason: _ Subshtution PYDP"'Xth

2: Given: f;f%‘@
is comp. to £2 ) 1 3

Conclusion: £3 1S Covvul? 1o L2 Reason: Subghhtuh on PYDFU ‘hbq

NOTE: When using the SUBSTITUTION PROPERTY the

statement that corresponds with it will always be NON-CONGURENT!!!

3: Given: AB=BD D
BD=EF B o—1 o
E F
A
Conclusion: /B = EF Reason: tvangihive Prp P&’fy
4: Given: £1=./3 E /P‘S >
/2=/3 A .
2= /4 7 7
Conclusion: Ll = LL\' Reason: __lvanSihve PTDFOA"\J )

NOTE: When using the TRANSITIVE PROPERTY, the statement

that corresponds with it will ALWAYS be CONGURENT!!! It’s just chain reasoning!!

5: Given: 2| 1s & smwhfarale, 6. Given: Z | ‘3;[.2
L1 =L L7 =L3

Conclusion: £2 1% A4 S’ﬁfai@hf L Conclusion: <! = L3
Reason: g ubgh huhon PVDP&“"Z Reason: Troangifive PVD ,Pb”?j




A Jwo Column Proof Description:

Statements I Reasons
1. Every proof will start with a q iven statement.
2. Every proof will end with the \"DV“ pyove " statement.

3. Every proof has numbered statements and reasons!

e Remember that reasons should always be written as W8 ,hen glotement=s

e (conditional)
e The ‘I\\AOD‘W\%& S |{l of the reason always comes from the previous step.
U\

o The (‘A)V\(AM»S\OV\ “‘H‘ehof the reason always refers to information from the current step.

Use the information below to write a two column proof:

1) Given: XABD and xCBD form alinear pair A
=
Prove: XABD and xCBD are supplementary
D C
Statements | Reasons

() 288D and £LCBD fovm a Linear paiv (D Given

vy (@) 1 3 L's form a Linear por,
@ LABD and LLBD are Supplementzav Hhen %F?D/J are QMPP\&K&'I{IW%.

- A
2) Given: DBbisects Z/ADC
Prove: ZADB = /BDC o
D C
Statements | Reasons
M DB hisecks LADC. Given
(2 LADBZ zpDC 218 a ray bigecks an L, ‘:_U“i"‘g
PO H——'rﬂ'\e,af@lbmh L= )

Fhink-Pair-Share: How is drawing conclusions different from writing a proof?




